
Bugsville Worksheet

Your mass-selection experiment:

Analysis of class’s mass-selection experiments:

Mean of selected parents – Mean of all parents = Selection differential

_____________ – _____________ = _____________

Heritability × Selection differential = Predicted response to selection

_____________ × _____________ = _____________

Mean of descendants of 
selected parents –

Mean of descendants of 
all parents, estimated by 
mean of the all parents 

before selection

= Actual response to selection

_____________ – _____________ = _____________
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